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Q1. Answer the following questions: 16

i) Describe the circumstances leading to the outbreak of revolutionary protest in France.
ii) What changes were seen in the regime of Robespierre’s government?
iii) The sun rises two hours earlier in Arunachal pradesh as compared to Gujrat in the west but the

watches show the same time. How does happen?
iv) The central location of India at the head of the Indian oecan is considered of great significance. why?
v) What are the difficulties people face in non-democratic country? Give answer drawing from the

cxamples given in this chapter.
vi) What is IMF? How does it work?
vii) What are the non-farm production activities taking place in your region? Make a short list.
viii) “Green Revolution is associated with loss of soil fertility”. In the light of the statement mention five

problems caused by modern farming.
Q2. Very Short Answer: 4

i) Name the authors of the following books.
a) The social contract
b) Two treatises of government

ii) In which year did the Indira point get submerged under sea water?
iii) Salvador Allende the president of Chile favoured which sections of society?
iv) What does HYV stand for?
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1&1&1&1&1& fuEufyf[kr iz”uksa ds mRrj la{ksi esa nhft,&fuEufyf[kr iz”uksa ds mRrj la{ksi esa nhft,&fuEufyf[kr iz”uksa ds mRrj la{ksi esa nhft,&fuEufyf[kr iz”uksa ds mRrj la{ksi esa nhft,&fuEufyf[kr iz”uksa ds mRrj la{ksi esa nhft,& 10 x 2 = 20
1& ghjk vkSj eksrh us “kks’k.k ds f[kykQ vkokt mBkbZ] ysfdu mlds fy, izrkM+uk Hkh lghA ghjk&eksrh dh bl izfrfØ;k ij

rdZ lfgr vius fopkj izdV dhft,A

2& d`’kh iz/kku lekt esa i”kqvksa dk D;k egRo gS\

3& ^nks cSyksa dh dFkk* dgkuh ls vkidks D;k iszj.kk feyrh gS\

4& dchj ds vuqlkj Kku dh vk¡/kh vkus ij D;k&D;k ifjofrZr gks tkrk gS\

5& dchj us fdl lkekftd cqjkbZ dh vksj ladsr fd;k gS vkSj D;ksa\

6& dchj ds nksgs vkSj in lkaiznkf;d ln~Hkko mRiUu djrs gSaA bl fo’k; ij la{ksi esa fyf[k,A

7& izkd`frd vkink ls fuiVus dh rS;kjh esa ekuoh; vko”;drkvksa dk /;ku dSls j[kk tkrk gS\ bl ty izy; esa & ikB ds

vk/kkj ij mRrj nhft,A

8& ck<+ tSlh izkd`frd vkink,¡ ekuo lekt dks fdu&fdu :iksa esa izHkkfor djrh gSa\ fdUgha nks dh ppkZ djsaA

9& vkinkvksa ls fuiVus ds fy, viuh rjQ ls dqN lq>kko nhft,A

10& ukStoku ds ikuh esa mrjrs gh dqRrk Hkh ikuh esa dwn x;kA nksuksa us fdu Hkkoukvksa ds o”khHkwr gksdj ,slk fd;k\
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